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QUESTION 1

You have identified an existing Service that you would like to re-use. You need to submit a Service consumption
request. Which two items are most appropriate to put into the request?

A. Data that you want to consume from the Service

B. Expected load that you will put on the Service

C. Expected usage profile, such as days of the week or hours in the day
D. Type of client that will be connecting to the Service

Correct Answer: BC

QUESTION 2
What two aspects of an existing requirements management approach need to be extended when adopting SOA?

A. Requirements need to be assessed against the enterprise business model and not just the immediate project\\'s
scope.

B. Need to encompass requirements from operational staff to manage deployed Services as well as the business
C. Requirements need to expressed in terms of a Service contract, implementation, and interface.
D. All requirements are captured regardless of whether Services will be built from them.

Correct Answer: AC

QUESTION 3

During Service identification and discovery, which three reasons you would use a business function model?
A. To identify functional overlap and linkages in the SOA project selection process

B. To summarize what an enterprise does and the relationship between those functions

C. Identify the high-level business processes in the organization

D. Define the organizational structure for the business

E. Provide a structure for a federated enterprise service bus deployment

Correct Answer: BDE

QUESTION 4

How do the reference business objects, business services, and process models contained in the Application Integration
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Architecture (AIA) Foundation Pack map to the layers of the service-oriented integration architecture?
A. The reference business objects, business services, and process models map to the Business Services layer.

B. The reference business objects and reference business services map to the Business Services layer and the
reference process models map to the Business Process layer.

C. The reference business objects map to the Connectivity layer, the reference business services map to the Business
Services layer, and the reference process models map to the Business Process layer.

D. The reference business objects map to the Data Normalization layer, the reference business services map to the
Business Services layer, and the reference process models map to the Business Process layer.

E. The reference business objects, business services, and process models map to the Business Process layer.

Correct Answer: E

QUESTION 5
Which statement describes the purpose of a Service portfolio?

A. A Service portfolio provides a single location for storing Service meta-data, software relationships, and metrics in
order to apply governance policies and systemetise reuse.

B. A Service portfolio provides a singlesoftware library from which artifacts can be deployed and versioned.

C. A Service portfolio provides a runtime view of the Services so that the right Service may be looked up and consumed
in an environment.

D. A Service portfolio contains all the software artifacts that will be developed by a project so that project managers can
track their lifecycle through the project.

Correct Answer: D
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